SA KA HEH
A ToEd 2 (8d/H)
Chol: TQIStE 28 U AL BE (ol @)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
KHA A4 EH 11,325,751 9,907,012 1,418,739
= 4,611,200
[ 1,475,000
Il 1,360,000
[ 3,879,551
NHEd 28 (8F/Xe) 9,293,231 9,372,784 ANT9,553
= 4,541,200
) 1,360,000
= 3,392,031
28 28 2 AL &5 3,493,831 3,740,100 A\246,269
= 680,000
Jl 1,360,000
[ 1,453,831
ASetFEd 2e| 242,310 246,900 N\4,590
202 048l 5,310 5,900 A50
01 2L AL 5,310 5,900 A5
OXAF20F HRFA 5,310
307 @I2t01 & 180,000 184,000 24,000
05 2IR”IRIE = 180,000 184,000 24,000
OxgstEsd 29 180,000
308 XXM SOIA 50,000 50,000
01 AXEHN B2 LS 50,000 50,000
O4BHH= MEF2HZ2HAS 2Ac 50,000
401 AIZHIX S0 7,000 7,000
01 AlZH| 7,000 7,000
OXtistigd It EH 7,000
VMM ESE LR 2L4(=1) 546,000 1,560,000 A1,014,000
= 455,000
= 91,000
403 NXIEHHSA=201E 546,000 1,560,000 1,014,000
= 455,000
= 91,000
01 AXISHHA=2 2L 546,000 1,560,000 21,014,000
oSt dcld duHseg= 384,000
= 320,000
== 64,000
Og+=(AZ) SUAYUHSL2 162,000
= 135,000
= 27,000
OWZ MEHAHEN W= - 2 150,000 150,000
308 XtXIEMSO0IE 150,000 150,000
01 RSN EES 150,000 150,000
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SA KA HEH
A ToEd 2 (8d/H)
Chol: TQIStE 28 U AL BE (ol @)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| os=owmaNdss RsTRIY N 150,000
ez XNE & |K4(=21) 292,500 292,500 0
= 225,000
& 67,500
308 AHAIEMSOIE 292,500 292,500 0
= 225,000
= 67,500
01 AXEH B EES 292,500 292,500 0
oYX N8 € =4 292,500
= 225,000
= 67,500
dej22X9 X8 & |4 11,500 7,500 4,000
307 elztol & 11,500 7,500 4,000
02 2B HAIHE & 11,500 7,500 4,000
odtf2d 243t 11,500
CAIMES SRAIE(21) 316,000 0 316,000
Il 280,000
= 36,000
403 AXIEHMSAH=201H 316,000 0 316,000
Jl 280,000
= 36,000
01 AXISHHA2EE 316,000 0 316,000
O AlME=E =& 316,000
Il 280,000
= 36,000
KNHSHAEFHOISAISE X (HEALY) 135,200 0 135,200
403 MR HHMSAHE01H 135,200 135,200
01 MHXIHHA =222 135,200 135,200
OMREr ZLHSZ TL(HE 135,200
CAl MEEAIZ2E ZH(HEAY) 459,000 0 459,000
403 AXIEHMSAH=201H 459,000 459,000
01 AXIEHM A= 2 £ 459,000 459,000
OLnY HAS MEFAS2Y 28 (HE) 459,000
OEl0] MEHME 32t ZHAIS (HEAL) 76,500 76,500
403 X SHHMSAH=01H 76,500 76,500
01 AR A= 2 £ 76,500 76,500
OgYYS 020l MENES2 24(HE) 76,500
PAZ SXCAl LBME 2(=21) 104,000 117,000 A 13,000
) 80,000
& 24,000
308 AHAIEHMSOIE 104,000 117,000 213,000
Jl 80,000
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SA: X AEN D}
M NI 2N (2FE/NH)
el gEd 2 % AE =5 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 24,000
01 IXISHHB A EEZ 104,000 117,000 13,000
OAZ STAl 9ZZ202 X 104,000
pJ 80,000
= 24,000
SAUSENS gleX 2/ L 2HO0IZAL &X(2D) 1,128,571 395,000 733,571
p] 1,000,000
= 128,571
403 XX RIS K20l & 1,128,571 395,000 733,571
pJ 1,000,000
= 128,571
01 XIS R2EE 1,128,571 395,000 733,571
oOBLE SNLSNA g&x=2 338,571
ol 300,000
= 38,571
OUg4t B STMEH 21 790,000
pJ 700,000
== 90,000
BAASEIIS 29 32,250 11,200 21,050
201 Lere | 21,750 8,200 13,550
01 ArRzielt| 21,750 8,200 13,550
osdagEIls gRFd 21,750
202 04| 10,500 3,000 7,500
01 3LHoIH| 10,500 3,000 7,500
OEIINAAIY BXIZAF X EA 10,500
OMME - Mg 85 22 5,799,400 5,632,684 166,716
2 3,861,200
= 1,938,200
OFMSS T30 (=D) 888,000 732,800 155,200
= 710,000
= 178,000
403 XX HIS =01 ™ 888,000 732,800 155,200
2 710,000
= 178,000
01 RXISRIAH2E X 888,000 732,800 155,200
Osxg Ity 888,000
2 710,000
= 178,000
ASF THS OFHSUElX] AIZIHF 2 AMHIA2! XI2(=21) 945,000 945,000 0
2 630,000
= 315,000
308 XXM SOIH 945,000 95,000 0
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S R AHEH
mo: Toisd S (210
el Ords - Al 23 2 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 630,000
=S 315,000
01 AXHNBELES 945,000 945,000 0
OANZMHF & AMHXel X 945,000
= 630,000
< 315,000
ASF S ZelPds & LElE2sS AH 180,000 300,000 120,000
308 AHAIEMSOIE 180,000 300,000 120,000
01 X HHBAEXS 180,000 300,000 120,000
OASF Ui E=2d=s & L=gs N 180,000
ASF Xt SEtel 22l(21) 1,190,000 690,200 499,800
= 850,000
= 340,000
308 XXM SO0l 1,190,000 690,200 499,800
= 850,000
== 340,000
01 HRESHH B E2ES 1,190,000 690,200 499,800
OASF Xt SEtel 2l 1,190,000
= 850,000
< 340,000
MENAHMBIAXIZM(=12) 660,000 660,000 0
= 550,000
= 110,000
308 XXM SOIA 660,000 660,000 0
= 550,000
=S 110,000
01 XN BELES 660,000 660,000 0
OEMES AL 660,000
= 550,000
< 110,000
OESE PXaeldE 22 (21) 632,333 616,667 15,666
= 189,700
= 442,633
307 @I2t01 & 632,333 616,667 15,666
= 189,700
= 442,633
02 B HAHE L 632,333 616,667 15,666
OOtlsE X 2cIdE 2 632,333
= 189,700
s 442,633
Ol S - A= B3 130,000 196,350 66,350
308 AXIHSO0IA 130,000 196,350 66,350
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SA KA HEH
M NS S8 2AL(8Y/BBES5E)
gelr = ZE3d 2 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 360,043
= FE3¥ 28 & 2 12,900 43,200 /30,300
201 fet= 3| 3,780 34,200 /30,420
01 AtR2te|HI 3,780 34,200 A30,420
osd 733 29 3,780
202 04| 9,120 7,600 1,520
01 =LHO LI 9.120 7,600 1,520
o3| R 9,120
N2z 2SN (=1) 91,000 104,000 ~13,000
= 70,000
< 21,000
308 AXIHSOIA 91,000 104,000 13,000
= 70,000
& 21,000
01 HASHHBSEEXS 91,000 104,000 A13,000
OXZEZE 2SN At 91,000
= 70,000
= 21,000
=IHESE 2¢ & 2el 52,200 52,200 0
201 er23 | 4,200 4,200
01 At2tltl 4,200 4,200
OZ2gs NS XESEH 23 4,200
308 AXIMSOIA 48,000 48,000
01 XN B2 LS 48,000 48,000
O=JIEsH 28 « &cl 48,000
FUlAD SEY AAXESE 28 € 2 74,300 72,000 2,300
308 AFXIEMSOIE 72,000 72,000 0
01 HAHHBLEXRS 32,000 32,000 0
OHMAXNESEH 28 % 22l 32,000
07 X222 40,000 40,000 0
OMAXNZEZSH 82 & SLIHE HE 40,000
310 =2/01& 2,300 2,300
2 =H2s3 2,300 2,300
RUAZ AAXESE UWERAT Al 2,300
SM XESE UE/AA(RD) 1,664,643 225,714 1,438,929
[ 1,475,000
= 189,643
403 AXIEHMSAH=201H 1,664,643 225,714 1,438,929
[ 1,475,000
= 189,643
01 AR A =2 £ 1,664,643 225,714 1,438,929
OXEZE MEH2ZD[EAE =4 1,604,643
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